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1. Answer the following questions (any ten) :
1x10=10
©ES TR T foran (1 ciee wRb)

(a) What is social indifference curve?

AN Fers @ 2

(b) Define property rights.
Tifeq SigFa e f |

(c) What is monopoly power?
GZeoioa IEET *IfS 62
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(3) |

(2)
(d) What is : I
z product dlfferentiation? () Define cartels. |
T fieeReR 3o s
9 2 e TG TR el |

(e) Deﬁne Sad .
dle point. (m) What is exclusivity?

G 5
TR e Afxgad e & o

Write one difference between private

payOﬁ- matl‘l}(? (n)
S e 9 goods and public goods.
(9) In what e T TF HAPRl TR TS ol A1
asymmetric ﬁz of market we get e
Tmation?
I
. N RS e TN et (0) State Bertrand’s model of oligopoly.
‘ ' el TGS FHRCTOR IS TG IF T |
(h) Give an
€Xample of pogiti
pOSlthe eX p
4fo e RRrer %lﬂ@ ternahty- ' 2. Answer the following questions (any five) :
. T 2x5=10
Bl What G5V A7 e 2T e ot (R e <Hiod) -
discriminatiop o St-degree :
o2y Price (@) Define Pareto efficiency.
{ W]it‘”’f%ﬁam? ¢’ PereTer kRl il |
] (\)Vﬁhat IS the basic diff (b) Write two features of public goods.
80poly ang dquOly‘P €rence between ‘;‘@T o fo
vggﬁw EICEEIRUEIE] |
©
REI
l qE Ay
S l bR TR ree (c) How does concentration ratio determine
k) What X D degree of monopoly power?
T g OWn pointp @@ﬂqﬁim «Feolba IEHT Mfew @l
? FECE FE?
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(4)

-Pérson zer
0-8 H
| - - um’ game?

IS (37 s 9

€ What js meant

a market?

Wﬁmmﬁsm?

?@ﬂmﬁqﬁz—%q%?

(b)

(c)

Briefly explain the causes of market
failure.

o1 R SRPHER ST IR 4 |
Explain the concept of excess capacity

under monopolistic competition.

LQW SES EAO) @Q‘[l%ﬁ "5‘[0 a@ O
HIQCo! T 41 |

(d) When is price discrimination possible
and profitable? Explain.
o RreRieed @M ed S ereene A2
s 4l |

(e) Explain the concept of Prisoner’s
Dilemma.
FREAR Fagr ARECE! A P

() Distinguish between perceived and
proportionate demand with the help
of a diagram.
Baq A SRS SF ST BT
{IEITCOT <0

(g9 Explain how the growth of monopoly
power can lead to market failure.
P Ao e Rera e RIS RERE O
1 T¢I, T A0
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(h) Do
you
earns Sup‘::i?k monopohst a1
: your ans ormal  prof ways
wer. 2 Justify

J Par ’
ey °F OPtimaj cto’s
Tl wﬁ” G (B B, g 2+6+2=10
oo I MRy i O
SR ECHr B | TIB’g Mty o
{b) State i
What :;ld exp] conn
thEOreIn? unitatiOnS ; tljgorem
T s Oase’s
T Gea
=1
%WW % ﬁi-) W | q3 WCTW 0
(C) HOW Ca.n mon
0
and regulated? pOIy po
T Ex € Contro]je d
R AR 10
22A/1119 WW%%‘TWW&@
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(7)

(d) Explain how prices and output can
be determined under monopolistic
competition in the short run and

long run. 10

G GRS T E AT IO HE
W@Wﬁﬁﬂq?ﬁﬁﬂﬁ,ﬂ]mw|

(e) Explain diagrammatically Cournot’s
model of duopoly equilibrium. 10

@"WW’T’%WWWWI

(f) Write two applications of game theory.
Explain the method of solving
a two-person zero-sum game. What are
the limitations of game theory?  2+6+2=10

mw@ﬁmetﬁznnﬂﬁ'@m@*ﬁi—
AT mmmmaﬁaﬂﬁ,w
<41 | (471 ©gd TN TEd 40

(g9 What is information asymmetry? How
does information asymmetry affect
business? Give two examples of
markets where information asymmetry

prevails. 2+6+2=10

Wwﬁa%?wmﬁwﬁw
%mmmam@wwﬁ%w
e Tt i |
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(h) Explain why there is N0 supply curve
under monopoly. Explain the cage
of dumping in internationa_l Price
discrimination. 5+5=10

()  Describe how 4 monopoljgt

. 10

E%rﬂv‘n'w%m%%ﬂw P TS Rreres)
RO e PCME Sty TS =,
ST 3547 |

) Compare and Contrast Bertrang
and Stackelberg’s €quilibriym under
Oligopoly. 10
Rl e — IREY oy Beref
TP S s M vy

* o o
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